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Question numbers 1 to 8 carry one mark each. For each question, four alternative choices
have been provided of which only one is correct. You have to select the correct choice.

i1 23

—5— TEETE ER B

275

(A) T (B) o

(C)  @\m au S (D) 7G99 FAGN

Decimal expansion of % will be :

(A)  terminating (B)  non-terminating

(C) non-terminating and repeating (D)  non-terminating and non-repeating

2. % =gye, foFE YEF —5T44E §

(A)  x =5r+4 (B) x +5x—4
(€) X +x=20 (D) x=9x—20
The polynomial whose zeroes are —5and 4 1s :

(A) x —5x+4 (B) x+5x—4
#C) P +x=20 (D) 2—9x—20

3. ADEF ~ AABC %1 af2Z DE: AB=2: 3 % 7ol ADEF &1 85%e 44 o1 30 8, W o0 gwrdl §
AABC =1 8% § :
(A) 99 (B) 120 (C) %
ADEF - AABC ; If DE : AB=2: 3 and ar{ADEF) is equal to 44 square units, then area {AABC)
in square unitsis; .

(D) 66

(A) 99 (B) 120 ©) 1:} (D) 66
4. 3g5in"20° — 2tan’45° + 3sin’70° 1 HH %
(A) O (B 1 < 2 D)y -1
3sin’20° — 2tan’45° + 3sin’70° is equal to :
(a) 0 (B 1 < 2 o5 R
5. Px3aMP <3 H AT (LCM) & :
(Ay 2 ® 3 (€ 2x3 (.. EE%
LCM. of 2 x 3% and 2*x 3% is : ;
Ay 2 B 3 iy 2x3 (D) ZFx3
6. ifms mdwr, famm efy=2,y=3¢
(A)  2v+3y—13=0 (B) 3x+2y-31=0
(C) 2r=3y+13=0 (D) 2x +3y+13=0
v=2, y=731s a solution of the linear equation :
‘[_53..}’! 2x+3y—13=0 {B) 3x+2y—31=0
(C) 2x—=3y+13=0 (D 2v+3y+13=0

Page 3 of 9



ﬁm%ﬁ'}?fiinﬁzﬁﬁ, Al tang FUET T

b b a
(A —pm—— (] e— (S e ——
JaZ + b’ Jb? —a? JaZ —p? _ b? —a?
Given that sint = %, then tan# is equal to :

b b a ' a
& va® + bt ) B2 —a® © Jat — b2 i b2 — a2
WA, AIEAE AU AEAF & 6ie w1 "ay ¢
(A) 3 HIVTE = FEEF + 2 A
(B} 3 HIYE=THIYHF + 2 TLTF
(C) 3 FEEE =TT + 2 Al
(D) HETH =3 WA -2 °EAE
Relationship among mean, median and mode is :
(A) 3 Median=Mode + 2 Mean
(B) 3 Mean = Median + 2 Mode

(C) 3 Mode =Mean + 2 Median
(D}  Mode=23 Mean -2 Median

@Ug-a / SECTION-B
TET SEAl 9 F 14 H W ¥ 2 e ¥
Question numbers 9 to 14 carry two marks each.

Tigere favrs TEmRes & Far | 240 9971 228 1 9.9, (HCF) 7@ Hifeg |
Using Euclid’s algorithm, find the HCF of 240 and 228.

=% Tgomm wgae wW St forms Y= 2+ 3 aw2- 3 €1
Find a quadratic polynomial whose zeroes are 2+ J3 and2- 3.
&l 7 #%ia 7 afs AB||DC &, @l x &1 4F 7 HiA

D C
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12. afz /3 sinf— cosd =0 U107 < 8 < 90° &, T 6 1 TH FTd HHfog |

13.

14.

16.

17,

If /3 sind —cost =0 and 0° < 8 < 90°, find the value of 8.

oz fgemm =wgas 9@ Fifey fawes i = Jehe 9 O, S % al {’_ .4

o
- il : 21 3
Find the quadratic polynomial whose sum and product of the zeroes are — and —

L5

respectively.

Frey AT d21 Fi T AT TR ' w9t aiand 924 8 gqiad |

& [ 10-20 | 20-30 | 30-40 | 40-50 | 50-60
AR : 4 i 10 12 10

Convert the following distribution to a ‘more than type’ cumulative frequency
distribution :

Class : 10-20 | 20-30 | 30-40 | 40-50 | 50-60 |
Frequency 4 | B | 10 12 10
A= /OR
= SHaRm F24 F1 9geF 76 S0
ELE [ 0-10 | 10-20 | 20-30 | 30-40 | 40-50 |
: ARATA] : 3 8 9 T
Find the mode of the following frequency distribution
Class : 0-10 | 10-20 | 20-30 | 30-40 | 40-50
| Frequency: | 3 8 S | R b R

@UE-9 / SECTION-C
YT TEE 15 T 24 T UeE WA F 3 3 £

Question numbers 15 to 24 carry three marks each.

D, E 3% F H09: AABC &1 4onsil AB, BCAu1CA ¥ 5wa fag #1 ADEFA91AABC ¥ AFEE B
ATTA FA A )

D, E, F are respectively the mid-point of the sides AB, BC and CA of AABC. Find the ratios of
the area of ADEF and AABC.

FasiTa SIETE 27— 3 + 5x F YT A HIA, T G| S TOH F A% G FFSH H] A
e

Find the zeroes of the following quadratic polynomial and verify the relationship between the
zeroes and the co-efficients

2 -
=3+ 5,

136 @M 54 @ WA (LCM) a9 WA (HCF) F& WifEQ am Hearga  wifsg T&F
(FL.7,) % (B A) =T F=nst 1 T |

Find the LOM and HCF of 336 and 54 and verify that LCM x HCF =Product of the two
numbers.

a7e1aT JOR
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Ifaere favrsm wermifiam & w&m 3§ T Fifae fF Sem 979 847, 2160 A= § 1 79 |

Using Euclids division algorithm, find whether the pair of numbers 847, 2160 are coprimes or

1ol
18‘ ﬁq@ afrﬁﬂ-q : 1. -+ SECA e Siﬂ.zﬂ\
sech 1 — cosA
1 + secA sin?A

Prove that : =
sech 1 — cosA

19 =fg x*+11x° +23x — 35 & R I 1791 —5 € 1 560 9+ Y7 7 Hifa

Find all the zeroes of ¥° + 112 + 23 —35, if two of its zerosare 1 and —5.

20. k% 0 AF F o0 s T 79 v+ y=1; (2k—1)x + (k—1)y=2k +1, T FE 501 761 87

Eer“which value of k will the following pair of linear equations have no solution ?
T Ax+y=102k=-x+(k—-1jy=2k+1.
IS /OR

g1 #H F UF WA F #w FATES 7§ HH F Ued | WG HEA ¥ | 2 R W AT gW
HEA1 % g % FE HE § 1 W 9 ey |

The sum of digits of a two-digit numbers is 7. If the digits are reversed, the new number
decreased by 2 equals twice the original number. Find the number.

21. 4= =29 &1 A1 FG SifA

! i Taenfilal =t 5e - !
108 FH 6 |
209 FH 15
A0 F FH 29
408 41
50 § &9 60
60 F T 70 -

Calculate the median for the following distribution :
Marks obtained | Number of students

Below 10 6
Below 20 15
Below 30 29
Below 401 41
Below 50 all
Belowa: fi) 70

- —— . s —— ]

22. UF H9@a ABCD, f9EH AB|DC 2, % fawol wweut faig O w wfasde = €1 afe AB=2CDE @
AAOB 91 ACOD % &3heil § 379 F1d Hifay |

Diagonals of a trapezium ABCD with AB||DC intersect each other at the point O. If
AB=2CD, find the ratio of the area of triangles AOB and COD.
39ET JOR
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Fa@ﬁmﬁﬁqﬁmﬁﬁgmaﬁ#mﬁaﬂmmﬁwﬁ%mﬁﬁawﬁmﬁm%a
Prove that the sum of the squares of the sides of a rhombus is equal to the sum of the squares
of its diagonals.

23. 1 + tan2A)cot
fag wifaa - { an’A)cotA = tanA

co EECE.L\

(1 + tanZA)cotA
Prove that : : g = tanA
COSOCT A

cn.an T dubabubes  Lelaws Geves Yan wigwk hg 20 Aduduada %
o cdouA- Frd Me  waeduow mﬁ‘dﬂm Muak(

mﬁ%& Wo-ug | US-So | 50-55 | S5-Lo | Wo kS | W5 A0 fAe-15

KZ,W\Y—@ 1

Pt o) 2 A 2 i G 3 3
QrudeAs

P

e e i T = ik e - P I8 e L e - e o S = .

@us-g / SECTION-D
T R 25T 34T UAE F 43 B

Question numbers 25 to 34 carry four marks each.

25. Sfere Favmem wifr ¥ wim @ Tvien fF O F m s Im+1FEIARAE,
FATF m FE =]_‘-"\r'€F. )

Use Euclids Division Lemma to show that the square of any posiive mieger is either of the
form 3m ar 3m + | for some integer m.

26. T TR Wi TG B 0 G g x4+ 3y =6 ; 2v—3y=12 T4 &1 G T, A AS
ER1 e it | ' : '

Check graphica]ljr, whether the pair of equations x+3y=6; 2x—3y=121s consistent. If so,
than solve them graphically. ;

27 farg, Fifera - sech + tanf —1 _  cosf
" tanf —secd +1 1 —sind -
sech +tanf —1 _ cosb

Prove that : = -
tanf — sec® + 1 1 —'sinf
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28.

29,

30.

a1

afe f7=1 SR sz Aol § N =100 791 7reash = 32 &, 1 oW IRanand f; 797 £ 76 HI
1 “| 0-10 | 10-20 | 20-30 | 30-40 | 40-50 | 50-60 | T =AM
ARERA : 10 fi 25 30 fa 10 100
Find the missing frequencies fi and f: in the following frequency distribution table, if N =100
and median is 32.
Class: | 0-10 | 10-20 [ 20-30 | 30-40 [ 40-50 | 50-60 [ Total
Frequency : 10 i T DT f 10 | 100

Tqig TETE ' — 61 + 160 = 25x + 10 F (¥ —2r+ k) B 99 FH WITEA x+a AAE A kT a F
oF F1d FITA |

If the polynomial x'—6x" + 163" —25x +10 is divided by (x* = 2x+k) the remainder comes out
to be x +a, find k and a.

JUET /OR
Ay STt : 24 L. -5, % 3 _,
x=1 y-=2 g =2
Sovle for x and y : + - =72 < U - =
x =1 y—i .1'-.'1 y-—z

@t T sl § ABC 91 DBC ¥E @) fase ¥ &t & amum BC W = ¥ 3fg AD 79 BC WK
#F 3C) _ AO
3C)

T Do’

O W wfr=z F341 €, 9 29ize fe

A =

B D
In the given figure, ABC and DBC are two triangles on the same base BC. If AD intersects BC

at O, show that ar(4ABC) = a y
,ar(ADBC) DO

¥

A

B D
3721aT JOR

afg 21 wHEd Frysll & asde sl ¥ O fag St & s ety =i

If the area of two similar triangles are equal, prove that they are congruent.

H90° — B) sin(90° — i
o v iy, SO0 — 0)Sin(90° — 8) | cotdl® (2500 4 cos270°)
sinf tan 50°

cot(90° — 8) sin(90° — 8) 4 Cot 40°
tan 50°

Evaluate : - {EGSEED” + msz?ﬂ‘*]

sinf
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32. fog Fifsu fo &1 wmey B & Sl § oTm, S = sl & S % S F et g

33.

3.

21

Prove that the ratio of the area of two similar triangles is equal to the ratio of the squares of

their corresponding sides.

inf
fog Fifag ;. <O SI0Y_ = (cosd + sind)
L' 1—tan® 1 -—cotd
Prove that : co8 21 = (cosB + sinfi)
1 — tan@ 1 —cotd

e arana 929 ¥ fAu, '8 S99 Yen w1 ged SHana g% (6 gite

ey 200- | 250- | 300- | 350- | 400- ‘ 450- | 500- | 550-
250 300 350 400 450 | 500 550 a0
I A 30 15 45 20 5 | 40 | 10 15
Far the ful]r.;::ing frequency distribu tiun,ql.a':{'-.r a cumulative frequency curve of less than
type.
s 200 - 250 - 3[_]'[! - 330 - 400 - 450 - 500 - 350 -
230 300 350 400 450 500 550 &00
Frequency: | 30 15 45 20 25 40 10 15
-00o0-
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